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Precalc13.2

Solve permutation problems with repetitions
Solve circular permutation problems
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The number of permutations of n objects of which p are alike and g are
alike is




Circular If n objects are arranged in a circle, then there are % or(n - 1)
Permutations permutations of the n objects around the circle.

If the circular object looks the same when it is turned over, such as a plain Rey ring, then
the number of permutations must be divided by 2.



Point of reference:

one seat is by the door

one laptop is purple

one chair is by the window
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